50 BOAT BUILDER'S HANDBOOK

Craft Print Project No. 6

ERE is a fast and furious, but at the same
time, highly maneuverable 9% ft. out-
board hydroplane, designed for outboard

motors of T% to 10 hp or larger.

Your first step in building is to saw the form
(on which Atomite is built) to shape from a
2 in. x 8 in. x 8 ft. plank. Mount the form on
legs similar to a saw horse at a convenient work-
ing height. Next draw full-size paper patterns
of the stem and frames #1, #2 and #2A and

Faree e

e

T e
.........

You can't beat this tiny hydroplane for high-speed fun afloat
By WILLIAM D. JACKSON

Naval Architect

#3 transom. Starting with the stem, lay this
pattern outline on the stem material, prick out-
line through and cut to shape. Then carefully fit
stem joints together, coating contact surfaces

with Weldwood glue, drilling for and inserting
two V4 x 3% in. carriage bolts in the stem joint.
Bevel the stem as shown and lay aside until
frames are ready for assembly.

Now transfer pattern shapes to frame material
and cut frames #1, #2, and #2A, and tran-
som #3 to shape. Secure frame
joints with Weldwood glue and two
3¢ x 2 1n. rh (roundhead) stove
bolts to each joint. Transom #3 con-
sists of an outer shell of 3% in. ply-
wood to which a frame is secured
with Weldwood glue and 7% in. #6 fh
(flathead) screws, inserted from the
outside or plywood side as shown.
Allow glue to dry and then notch
frames for keelson, chines, and clamps.
Also notch the form for the frames.

Now decide whether you want your
version of Atomite with or without
tails, which add to its streamlined ap-
pearance and do not affect its per-
formance. If you decide to include
the tails as was done with the boat
<hown here, go ahead and assemble
frames and stem atop the form, hold-
ing parts in place on form by wedging
or clamping. Then place keelson 1n
keel notches and fasten In place to
frames and stem with two 134 in. #8
fh screws to each joint. Next clamp
the chines in place on both sides, and



BOAT BUILDER'S HANDBOOK

r.

e 7-lz __
l:: 16 —sfo— 17—+t 28" - 24

B
.'" _M— l - =

: 7 _ 4 :‘_——-\W__,f-ﬁ“'
BEEMING L e ————— S
73
DECK FORM P |
» | 2%8*8 2'x 4" LEGS
CARLIN OUTLINE 5 PLYWOOD
1 : DECK
e DECK FRAMING
CARLIN 7 & o f L CLAHI "P'
| CORARNG DECK BATTENS./BEAMS
(SEE SECTION) [T ;o
_-B" | _—_lltL_ - e = s E——— -
A BOTTOM STEM
O KEELSON
PLANKING ki
EXTENSION 1
BOTTOM BATTEN
CARLIN ST LINE CLAMP
BOTTOM FRAMING
e 16"—ie s’ + 28"
' kg ~TOTOR ARLIN g
TAIL BOARD |
| gt
A . CLAMP |lLe—FRAMES
\@) CHINE

A ]
lllllll

BOARD 1¥#10:14"
OUTSIDE FRAME

e

s ee—

FRAME DETAILS

is installed.

glue, clamp
fasten with

To plank

BEAMS § THICK DECK BATTENS P
%"~ MOLDING 3 xIg

CLAMP g 3
¥

B e
—— I
————
_' ' '.|
)
|I.
[

‘TRANSOM
*3

KEEL OUTSIDE 15§

S b S| DE

sTOVE BoLts g2y

KEELSON $%2% BATTEN

BOLTS

e

% X3} CARRIAGE

5l

then run a saw alongside
the chines to insure per-
fect contact surfaces
between frames and
chines. Then bevel ends
of chines to fit stem and
screw-fasten them with
one 134 in. #8 fh screw
to each joint. Let about
6 in. of the chines extend
aft of the transom for
bottom projection at this
point. Next place clamps
in position, letting 16 in.
of clamp extend aft of the
transom, beveling ends
of clamps to fit stem and
fastening clamps with
one 1% in. #8 fh screw
to each joint.

Now notch the bilge
battens flush into frames
(each batten forms a
straight line between #1
frame and #3 frame, see
dimensions on frame
drawings) and fasten
batten in place with one
134 in. #8 fh screw to
each joint. Attach the
bottom frame on the out-
side of the transom with
134 in. #8 fh screws
after coating contact
surfaces liberally with
Weldwood glue. Cut and

bevel the 34 x 1Y in. tail assembly
frame pieces as shown and attach
tail assembly framework with 134
in. #8 fh screws. Now trim and fair
entire framework so plywood to be
applied lies evenly at all points.
Plank the tails first as you won’t be
able to do this after bottom planking

To plank tail assembly,

coat contact areas with Weldwood

plywood in position and
7% in. #6 fh screws

spaced about 2 in. apart.

the bottom, first lay a

plywood sheet in position with a
joint exactly in the center of the
keelson, then mark and cut to shape.
Next coat all contact surfaces with

A o
e %1-7)1
pod 1

-

- TTOM
S 1 PLYWOOD




b .

&

i

'.'I..l-u-iﬁl R -

it

FRAME *2-A k———---——zs-;-"—-J—f
Weldwood glue, lay shaped plywood in position
and fasten in place with 78 in. #6 fh screws
spaced about 2 in. apart. The portion of stem
forward that the 8 ft. length of plywood fails to
cover is now covered with a scrap of plywood
and the joint is secured with a 1 x 1% in. bat-
ten, joint glued and screw-fastened. At the tran-
som the planking extends and is cut out to admit
the motor as shown. Trim edges of plywood
evenly along chines and prepare to cover the
sides with the 14 in. plywood.

To cover the sides of Atomite, lay a plywood

sheet in place, clamp and mark correctly, remov-

ing the plank and sawing to shape. Use the
shaped plank as a pattern for the opposite side.
For a flexible, waterproof joint at this point, coat
chines from a point about amidships to transom
with Kuhl’s Aviation Glue, then lay cloth strips
upon glued area and recoat with the same glue.
Now from a point amidships to the stem, coat
chines and entire length of clamps with Weld-
wood glue, clamp shaped side planks in place
and fasten with 7% in. #6 fh screws spaced about
2 In. apart, Trim planking evenly along chines
and finish planking job by attaching outer keel
and outer stem piece in place with 1% in. #8 fh
screws spaced about 6 in. apart.

Now remove the hull from the form, turn it
right side up and prepare to install the deck
beams (which were previously laid out on our
full-size patterns). Cut the deck beams to shape
and fasten them in place with one 34¢ x 2 in. rh

-

BOAT BUILDER'S HANDBOOK

stove bolt to each joint. Now notch the deck
carlins flush into the frames as shown and fasten
them with one 134 in. #8 fh screw to each joint.
Next notch the deck battens halfway into #1
beam and all the way into #2 deck beam as

Showing decking
fraomework and motor
cut-out.

]
‘‘‘‘‘‘‘‘‘

R

..........

MATERIALS LIST—ATOMITE
Exterior Plywood Required:

Sides and bottom 2 pecs. 14" x4 x &
Transom 1 pec. 34" x 15”7 x 52"
Deck covering boards 2 pes. L@’ x 16”7 x 54"

Other Lumber Required:

Carlin 2 pes. 34” x 118" x 7
Chines 2 pecs. ¥4 x 1V4” x 10/
Keelson 1 pc. 34” x 234" x @
Keel (outside) 1 pc. 15" x 118" x 7
Clamps 2 pes. 34" x 18”7 x 107
Battens (bottom) 2 pes. ¥ x 1V4” x €
Battens (deck) 3 pecs. 15”7 x 78” x 10
Moldings 2 pes. 34” x 118”7 x 107
Frames (includes transom frame) 2 pcs. 34" x 8" x 10/
Stem 1 pec. 1%” x 8” x 407
Form 1 08 R0 28 X G s
Motor board { 1 pe. 115" x 12" x 14”
l-pe.- 13" x 37 % 13"
Fastenings:

4 gross 7/3” 1t6 fh screws

4 dozen 115" #8 th screws

2 dozen 134" 18 fh screws

14 pound 14" tacks

2 14" x 315" carriage bolts (stem joint)

2 14" x 3V5”, 2 V4" x 8 carriage bolts (motor board)

Miscellaneous:

yards 36” width heavyweight muslin (sew with seam
in center); 1% gallon airplane dope; paint and var-
nish; 1 pint Weldwood resorcinol resin glue; 1% pint
Kuhl‘s Aviation glue

[

il

&
&



OPENING & EXTENSION OF BOTTOM
PLANKING AT TRANSOM

P oL
s o e
oot e LR o AR Lo, L R R
........................................

Nc;ta tail and bow construction in these photos of
the completed but unfinished boat.

shown. Before covering the deck apply 2 coats
of paint to the interior, allowing ample drying
time between coats. Cover the fore part of the
deck first with heavy-weight, closely-woven mus-
lin, lapped over the sheer and deck beam edges

BOAT BUILDER'S HANDBOOK 53

and tacked at 1 in. intervals with 14 in. tacks.
Now coat the cloth deck with 4 or 5 coats of air-
plane dope, allowing % hour drying intervals be-
tween coats. This coating makes the deck drum-
tight arild waterproof and you may enamel it any
desirable color afterwards. Now cut the 1g in.
thick plywood after side deck planking to shape
and screw-fasten it in place with 75 in. #6 fh
screws spaced about 3 in. apart.

Screw fasten the plywood coamings shown
(see drawings) in place and attach the moldings
to the sheer edges on each side with 1% in. #8
fh screws spaced about 8 in. apart. Make the floor
boards from Y4 in. plywood scrap and fasten them
to keel and battens with a few 75 in. #6 fh screws
so they may be removed for cleaning and paint-
ing the interior. Finally make the motor board
and angle pieces and bolt this board in place as
shown. Optimum angle of 12° is recommended
by Outboard Boating Club of America. You are
then ready for the final paint or varnish coats
and some fast-flying fun afloat.

—— o —

® Craft Print No. 6 in enlarged size for building Atomite
is available at $1. SPECIAL QUANTITY DISCOUNT!
If you order two or more craft prints (this or any other
print), you may deduct 25¢ from the regular price of each
print. Hence, for two prints, deduct 50¢; three prints,
deduct 75¢, etc. Order by print number. To avoid possible
loss of coin or currency in the mails, we suggest you remit
by check or money order (no C.0.D.’s or stamps) to Craft
Print Dept. B58, Science aANnp MEcHANICS, 450 East Ohio
Street, Chicago 11, Illinois. See coupon on page 192. Now
available. our new illustrated catalog of ‘“186 Do It Your-
self Plans,” 10¢. Please allow three to four weeks for
delivery.




BOAT BUILDEA'S HANDBOOK

ATOMITE

50

Craft Print Project No. &
You can't beat this tiny hydroplane for high-speed fun afloat
By WILLIAM D. JACKSON

Maval Architect



